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1. . Draw a diagram of the vectors (-3,5) and (7,1)in standard position
b. Use the tip-to-tail or parallelogram method to draw the resultant vector.
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2. Find the resultant vector for each. Also, find the magnitude and dlrechon
a. (-16,32)+(22,11) = b, 437 Vi 32 -=(L13.‘l ) o= € i)(,’y)
. @-
b. (4,72)+(37,-127)+ (43,43) = £ 8 X7 (Tquriant /2
S | = 941 6z =3-1°

3. The speed of a powerboo’r in still water is 47 knots per hour [KPH). The powerboat
heads directly west across the Messina River. The river flows north at 3.5 KPH. Find the
resulting velocity (i.e. speed and direction) of the powerboat.
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4. Aship near the coos’r is going 5 KPH at an angle of 130°. The water curren is flowing
directty due east at 3 KPH. What is the ships resultant velocity with respect to the
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5. Alear Jet has o speed of 420 MPH in still air. Suppose the plane travels east and

encounters a 50 MPH wind blowing d_gg[_\lgr_’rh Find the resulting velocity (speed and
direction} of the jet. y
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6. An Airstream jet flies 640 MPH in still air. Suppose the jet is traveling N45°W and encounters 2 78
( ) MJI’H wind blowing 545°% . Find the resulting velocity (speed dnd direction) of the jet.
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7. Suppose the Airstream jet above (630 RELisstil] au’) is travelmg N37°W and encounters a 140 MPH
wind blowing N76°% . Find the requltmg velocity (speed and direction) of the jet. .
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8. Miss Dalton is a tri-athlete and is swimming in the Cape Cod Canal. She swims 45° at 2.S.MPI~I. The
© current is flowing S45°% at 0.8 MPH. Find Miss Dalton’s resulting velocity (speed and direction).
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9. Suppose in question #8, that Miss Dalton also has to contend with a 0.5 MPH wind blowing dn‘cctly
east. Find Miss Dalton’s resulting velocity (speed and direction).
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~ 10. Mr. Johnson is traveling in his powerboat at 35 MPH traveling directly west. The current is flowing at
8 MPH in the direction of N32°W . There is also a tailwind of 12 MPH blowing in the direction of
N11°% . Find the resulting velocity (speed and direction).
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